Multiplication par Puissances de Dix (H)

Trouvez chaque produit.

60 X 100 = 47 x 1000 =
85 %1000 = 60 x 1000 =
95 x 10 = 51 x1000=
88 X 100 = 44 x 1000 =
86 X 10 = 70 X 10 =

98 X 10 = 53 %100 =
88 x 1000 = 93 x 100 =
47 X 10 = 44 x 100 =
36 X 100 = 11 x 1000 =
57 X100 = 19 x 10 =
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Multiplication par Puissances de Dix (H) Solutions

60 X 100 =6 000

85 x1000=285000

95 x 10 =950

88 x 100 =8 800

86 X 10 = 860

98 X 10 =980

88 x 1000 =388000

47 x 10 =470

36 X 100 =3 600

57 x100=5700

Trouvez chaque produit.

47 x 1000 =47 000

60 x 1000 =60 000

51 x1000=51000

44 x 1000 =44 000

70 X 10 =700

53 x100=15 300

93 X100 =9 300

44 x 100 =4 400

11 x1000=11000

19 x 10 =190
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